










Find the rectangle   (?)

1. 15
2. 18
3. 19
4. 20
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Find the missing :-

WATER : 55 :: STORE : 1 :: FORCE : ?

(A) 10
(B) 11
(C) 14
(D) 12            
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Find the odd (?)

1. M 25 H
2. J 16 G
3. R 49 K
4. K 49 D
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Find the option which should replace (?)
1. Travel / यात्रा

2. Destination /गंतव्य

3. Payment / भुगतान

4. Seat no. /सीट नं।

5. Reservation / आरक्षण

6. Availability of Seat /सीट की उपलब्धता

(A) 236541

(B) 263541   

(C) 341625

(D) 253461



Find the missing :-

(A) 828
(B) 1293
(C) 1945
(D) 783
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Find number of triangle in the given figure ?
दी गई आकृतत में तत्रभुज की संख्या ज्ञात कीतजए?

(A) 18 

(B) 20 

(C) 24

(D) 16



Find the missing (?)

EDUCATION = 192021451420
GOVERMENT =

(A) 1651516125

(B) 10152

(C) 3118

(D) 4516118201351420



There are two married couples in a family . % has two children . A is the wife of @ 

who is brother of # . F is daughter of % . U is sister of S who is son of @ . T is son 

of # who is male .

एक पररवार में दो तववातित जोड़े िैं। % क़े दो बच्च़े िैं। A, @ की पत्नी िै जो # का भाई िै। F ,% की

ब़ेटी िै। U, S का पुत्र िै जो @ का पुत्र िै। T , # का पुत्र िै जो पुरुष िै ।

How is A related to % ? 
A , % स़े कैस़े संबंतित िै?

1. SON
2. Sister in Law
3. Brother
4. Brother in Law
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Find the ODD (?)

1. Political Science /राजनीतत तवज्ञान
2. Biology  / जीवतवज्ञान
3. History / इततिास
4. Sociology / समाज शास्‍तत््र
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Find the missing (?)

YOGHURT = 7678392

QUICKLY = ?

1. 8393117
2. 8393237    
3. 7383237
4. 8393227
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Find number of triangle in figure?

(A) 48
(B) 46

(C) 44

(D) 42



Find the missing term(?)

16 : 56 :: 32 : ?

(A) 96

(B) 112

(C) 118

(D) 128



Find the option which should replace (?)

9 # 3 = 6
15 # 3 = 9
27 # 3 = ?

A. 10
B. 15
C. 20
D. 25



Find the option which should replace (?)

42 : 23 :: 123 : ?

A. 41
B. 42
C. 44
D. 45



Find the option which should replace (?)

45 : 7 ::  53 : ?

A. 5
B. 4
C. 3
D. 2



Find number of squares in figure?

(A) 25 (B) 35

(C) 32 (D) 30



Find the missing term(?)

5 : 421 :: 7 : ?

(A) 125

(B) 248

(C) 243

(D) 343



Arrange in dictionary order :
1. Creates

2. Critically

3. Crores

4. Crucially

A. 4,2,1,3

B. 2,4,1,3

C. 1,2,3,4

D. 3,1,4,2



If the letter of the English alphabet are serially numbered, one of the 
answer given below has a meaningful word hidden in it . Identify  the 
answer . 
यतद अंग्ऱेजी वणणमाला क़े अक्षर को क्रतमक रूप स़े तगना जाता िै, तो नीच़े

तदए गए उत्तर में स़े एक में एक सार्णक शब्द तिपा िै। उत्तर को पिचानें।

(A) 12 , 15 , 22 , 5

(B) 6 , 1 , 5 , 3 , 5 

(C) 2 , 5 , 18 , 13 , 1

(D) 1 , 5 , 18 , 13 , 1


